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N.B. .— (1) Attempt A/l questions.

(11)  All questions carry equal marks.
(ii7)  Use of calculator is allowed.
(1) W4 YT gredn
() @& TEAA GHH T SR
(7if)  TTOTRES ATORUATH QLA 31T
MCQ 10

1. Multiple Choice Questions :
TEIAR v e
(1) Range means .................. )
(A)  Distributed value
(B)  Comparison between two values
(C)  Difference between two values

(D) Difference between large and small values in distribution

W W .................

(A)  fawfsa gea

(B)  <F Hedwdid qar

(C) TF HeAdA Hleh

(D) fawsHde dI8 qear Ul @8F qeAndia ik
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(2) Identify true statement from the following sentences :

(A) Correlation answer’s limitation is -0 to 1

(B)  Correlation answer’s limitation is —1 to +1

(C) Every time correlation answer is positive

(D) Every time correlation answer is negative

Trefcus! 9 faum sfeen :

(A) TEEEUAT SRl FART 0 9 1 3T9d

(B) HegaursAl Salrt HARl —1 9 +1 3

(C) TEEaYN e TEHE U9 ST

(D) FeHIU™ SR "eHd RO I

3) Base year of index number has been .................. S

(A) Normal year (B) ~ Abnormal year
(C) Old year (D) Prosperity year
FREYTRME SMER aF o
(A)  HHH e (B)  TEMM 3T
(C) I erEd (D) S e
4) Regression tool was used by .................. first time.
(A)  Karl Pearson (B)  Laspeyre
(C)  Sir Francis Galton (D)  Fisher
Elﬁ'cl"'l'q_v-[ I qA —qu-&'n-rl- ﬂEf';[%TE[ ............... -q-F_ﬁ- @Fﬂ-
(A) e TsE (B) W EHieR
(C) W wifeH e (D) fHer
(5) Which of the following is not one measure of dispersion ?
(A)  Mean (B) Quartile Deviation

(C)  Standard Deviation (D) Range
WIEATeUsh! hiod IRAT faaemeiead @l ?

(A)  FERR WA (B) =gk formed
(C) v foreret D) fa&r

0ODS56F35D48BEA 75B55C10105A77C1243



( 3 ) A—373—2018
(6) If Q; = 10 and Qg = 20, find out coefficient of quartile deviation :

(A) 0.50 (B) 0.12
(C) 0.20 (D) 0.33
SR Qq = 10 3701 Qg = 20, W =Gk foeie ok wen .
(A) 050 B) 0.12
(C) 0.20 (D) 0.33

(7) Calculate Paasche’s index number from the following data :
Y g =295 3 pg =340
(A 80 (B)  76.86
(C) 86.76 (D) 115.25

@il Hifgd=al AR g9e=] e9e wal

2 pq =295 X pg =340

(A) 80 (B) 76.86
(C) 86.76 (D) 115.25
(8) Solve :
2
SD. - ‘/ﬂ[ﬁj
5 5
A) 1 B) 2
(C) 0.1 D) 5
redr
2
SD. - E_@
5 5
A 1 B) 2
(C) 0.1 D) 5

P.T.O.

0ODS56F35D48BEA 75B55C10105A77C1243



WT (4 ) A—373—2018
9) If a =5, b =10, then construct the regression equation X on Y :

(A) X =5+ 10Y B) X =10 + 5Y
(C) Y=5+10X M) Y=10 + 5X
SR a=5,b=10, WX T Y I MR T AHAO TR HA ¢
(A) X =5+ 10Y (B) X =10 + 5Y
(C) Y=5+10X M) Y=10 + 5X
(10) Solve :
& 20
J10x 40
(A) 0.50 (B) 20
(C) 0.11 D) 1
et
DOSLEDO
J10x 40
(A) 0.50 B) 20
(C) 0.11 D) 1
Theory
2. Calculate the coefficient of correlation from the following data : 10
X Y
50 25
51 24
52 27
48 30
49 30
50 28
55 32
45 35
46 30
50 26
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TTeliel Hifedi= STYR HedaY U &idl :

X
50
51
52
48
49
50
55
45
46
50

Or
(fenam)

25
24
27
30
30
28
32
35
30
26

A—373—2018

Define Index Number. Explain the importane of index number.

Tl =M 9. ey A T &

Calculate the standard deviation and coefficient of standard deviation from

the following data :
X
0—10
10—20
20—30
30—40
40—50
50—60
60—70
70—80
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Y
5
10
12
16
27
10
15
5

10
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Tleitel Afgdi=ar SR gHv fo=e 9 m=n Uk el

X Y
0—10 5
10—20 10
20—30 12
30—40 16
40—50 27
50—60 10
60—70 15
70—80 5
Or
(fenam)

What is Correlation ? State the types of correlation.

TeHaY WUN S ? Hgddurd YRR 9.

Attempt the following questions (any two) : 10
(1) Calculate Laspeyre’s index number from the following data :
2004 2009
Goods Price Quantity Price Quantity
A 8 10 10 11
B 10 9 12 9
C 16 16 20 17

(11) Find out the regression line of X on Y from the following data :
X = 28, £Y = 77, X2 = 140, £Y2 = 875, 3XY = 334, N = 7,
(z;1) ~ Quartile Deviation.

(1v)  Positive and Negative Correlation.
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a N\ = a L N o
LcdledYehl eh[Vicdlal a? ARl 3l [edel ¢

~

(1) @il Aifediea SR areder=n evme Hifgd &4

62)

2004 2009
T ferma T ferma Il
A 8 10 10 11
B 10 9 12 9
C 16 16 20 17

Gl Aifedien eMeaR X 9 Y =R 3nenia wfawmes Ion aifed &4
¥X = 28, XY = 77, ¥X2 = 140, 3Y? = 875, XY = 334, N = 7

(i) =Fqdw fo=em
(jv) o9 o RUT TEHe.
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